SIEMENS

Direkt-Starter

Ctavtare
WLai Ltcl o

Motorkopplare
Démarreurs
Arrancadores
Avvm'mn

3TW20, 3TW22, 3TW10, 3TW12, 3TW13, 3TW15

IT\Al/In 'lT\AlII 1 ZT\AI/IO 'ZT\AI/I 'l

Betrlebsanleltung/ Instructions

[Deiutsch

(1) Starter = Schiitz - Uberlastrelais ~
Typ yp

3TW2 10-0. = 3T.2 + 3UA7020..

3TW10.. -1. = 3TW108 + 3UW10 oder 3UA50
3ITW12.. -1, = 3TW128 + 3UW10 oder 3UA50
3ITW13.. -1, = 3TW138 + 3UW13 oder 3UA52
3TW15.. -1. = 3TW158 + 3UW15 oder 3UA54
3TW40.. -1. = 3TB40 + 3UW10 oder 3UAS0
3ITWA1.. = 3TB41 + 3UW10 oder 3UAS0
3TW42.. -1. = 3TB42 + 3UW13 oder 3UA52
3TW43.. -1. = 3TB43 + 3UW13 oder 3UA52

* \urird eanaeat
wirG séparat

Technische Daten

Nennisolationsspannung U;:

3TW1./3TW4. AC 660 V

3TW2. AC 690V

@ Nennbetriebsstrom /, bis 415 V/AC3 (bei 35°C)
(3] Nennleistung von Drehstrommotoren bei 50 Hz

Mtornamalaiotiina ACDIANTY
{= max. Motomennleistung AC2/AC3)

Nennbetatigungsspannung Us siehe Magnetspulen-Bezeich-
nungsschild des Schitzes.

Arbeitsbereich der Magnetspule:

3T ,75..1,1 % Ug
3TW2 /3TW4. 0,8 ...1,1 x U

Motorschutz durch Uberlastrelais.
KurzschluBschutz: siehe Betriehsanleitung des

Uberlastrelais.
Schutzart IP 42 oder IP 65: siehe Typenschild des Starters.

verwendeten

English |

(1] slarter = contactor + overload relay *
iype type

3TW2 10-0. = 3T.2 + 3UA7020..

3TW10.. -1. = 3TW108 + 3UW10 or 3UAS0
3TW12.. -1. = 3TW128 + 3UW10 or 3UAS0
3TW13. -1, 3TW138 + 3UW13 or 3UA52
3TW15.. -1. 3TW158 + 3UW15 or 3UA54
3TW40.. -1. 3TB40 + 3UW10 or 3UAS0
3TW41.. -1, 3TB41 + 3UW10 or 3UAS0
3TW42.. -1. 3TB42 + 3UW13 or 3UA52
3TW43.. -1, 3TB43 + 3UW13 or 3UA52

Technical data

Rated insulation voltage Ui:

3TW1./3TW4.  AC 660 V

3TW2. AC 630 V

@ rated operating current /, up to 415 V/AC3 (at 35°C)
© rated output of three- phase motors at 50 Hz

ad kb ACDIAMTY
{= maximum motor rated output AC2/ACSE)

For rated coil voltage Us see magnet coil designation plate of
contactor.

Coil voltage tolerances:

3TW1. 0.75t0 1.1 x U,

3TW2./3TW4. 0.8 to 1.1 x U

Motor protection provided by overload relay.

Short-circuit protection: see operating instructions of over-
load relay used.
Degree of protection IP 42 or IP 65: see rating plate of starter.

VT, JIVVTL, O

I[EC 2921
BS 494
VDE 0660

© Direktstart-

Koiitakior = Rontakior + Overiastreia *

Typ Typ yp

3TW2. 10-0. = 3T.2 + 3UA7020..
3TW10.. -1. = 3TW108 + 3UW10 eller 3UAS0
3TW12.. -1. = 3TW128 + 3UW10 eller 3UA50
3TW13.. -1. = 3TW138 + 3UW13 eller 3UA52
3TW15.. -1. = 3TW158 + 3UW1S5 eller 3UAS4
3TW40.. -1. = 3TB40 + 3UW10 eller 3UAS0
3TW41.. -1. = 3TB41 + 3UW10 eller 3UAS0
3TW42.. -1. = 3TB42 + 3UW13 eller 3UA52
3TW43.. -1. = 3TB43 + 3UW13 eller 3UA52

* levereras separat

Tekniska data

Markisolationsspénning U::

3TW1./3TW4. AC 660 V

3TW2 AC 690V

Q Markdnftstrom le upp till 415 V/ACI’) (wd 35°C)

has trafaomatarar uid B0
hos trefasmotorer vid 50 Hz

. ormarkeffekter AC2/AC3)
Mérkmanoverspanning Us se kontaktorns mérkplat for ma-
gnetspolen.
Magnetspoiens arbetsomrade

3TW1

L1 x U
3TW2./3TW4. 08 11 % U

Mggr_}rsk_\ujd genom Bverlastreld

Kortslutnmgsskydd se driftsinstruktionen for det anvanda
overlastrelaet.

Skyddsform IP 42 eller IP 65: se markplaten t6r kontaktorn.

[_F_rancais

@ Démarreur = contacteur + relais de surcharge *

Type Type Type

3TW2. 10-0. = 3T.2 + 3UW10 ou 3UAS0
3TW10.. -1. = 3TW108 + 3UW10 ou 3UAS0
3TwW12.. -1. = 3TW128 + 3UW13 ou 3UAS2
3TW13.. 1. = 3TW138 + 3UW15 ou 3UAS4
3TW15. -1. = 3TW158 + 3UA7020..
3TW40.. -1. = 3TB40 + 3UW10 ou 3UAS0
3TW41.. -1. = 3TB41 + 3UW10 ou 3UAS0
3TW4z. -i. = 3TB4z + 3UW13 ou 3UASZ
3TW43.. -1. = 3TB43 + 3UW13 ou 3UA52

* livré séparément

h

Caractéristiq iques

Tension nominale d’ |solement Uz

3TW1./3TW4. 660 V~

3TW2 690 V~

® Courant nominal d’emploi o = 415 V/AC3 (a 35°C)

@ Puissance nominale de moteurs triphasés a 50 Hz
(puissance nominale maximale du moteur, AC2/AC3)

Tension nominale de commande Ug: voir I'étiquette de la
bobine du contacteur.

Plage de fonctionnement de la bobine:

3TW1 , 7548 1,1 x Ug

3TW2./3TW4 08 a11 x Us

Protection thermique par relais de surcharge.

Protection contre les courts-circuits: voir instructions de ser-
vice du relais de surcharge utilisé.

Degré de protection IP 42 ou IP 65: voir plaque signalétique
du démarreur.

Espariol

@ Arrancador = contactor -~ Relé de sobrecarga *

Tipo Tipo Tipo

3TW2. 10-0. = 3T.2 +~ 3UA7020

3TW10.. -1. = ~ 3UW10 6 3UAS0
3TW12. = ~ 3UW10 6 3UA50
3TW13.. -~ 3UW13 ¢ 3UA52
3TWI15.. ~ 3UW15 6 3UAS4
3TW40.. ~ 3UW10 ¢ 3UAS0
3TWa1.. ~ 3UW10 6 3UA50
3TWaz. ~ 3UW13 6 3UASZ

3TW43. -1. = 3TB43 3UW13 6 3UA52

* se suministra por separado

Datos técnicos

Tension nominal del aislamiento U;:

3TW1./3TW4. AC 660 V

3TW2. AC 690 V

@ Intensidad nominal de servicio /, hasta 415 V/AC3
(a 35°C)

© Potencia nominal de los motores trifasicos a 50 Hz
(= potencia nominal maxima del motor AC2/AC3)

Tension nominal de accionamiento U, véase la placa de
designacion de las bobinas del iman del contactor.

Margen de trabajo de la bobina del iman

3TW1 0,75..1,1 x Us

3TW2./3TW4. 0,8 ...1,1 x U

Proteccion del motor mediante relé de sobrecarga.
Proteccién contra cortocircuitos: véanse las instrucciones de
servicio del relé de sobrecarga empleado

Tipo de proteccion IP 42 ¢ P 65: véase placa de caracteristi-
cas del arrancador

@ Tipo di = Tipo di + Tipo di rele ~

avviatore contattore di sovraccarico
3TW2. 10-0. = 3T.2 + 3UA7020..

3TW10.. -1. = 3TW108 + 3UW10 oppure 3UAS0
3TW12.. -1. = 3TW128 + 3UW10 oppure 3UA50
3TW13.. -1. = 3TW138 + 3UW13 oppure 3UA52
3TW15.. -1. = 3TW158 + 3UW15 oppure 3UAS4
3TW40.. -1. = 3TB40 + 3UW10 oppure 3UAS0
3TW41.. -1. = 3TB41 + 3UW10 oppure 3UAS0
3TW42.. -i. = 3TB4z + 3UW13 oppure 3UA52
3TW43.. -1. = 3TB43 + 3UW13 oppure 3UA52

* viene fornito separatamente

Dati tecnici
Tensione nominale d'isolamento U;:
3TW1./3TW4. AC 660 V
3TwW2. AC 690 V
@® Corrente nominale di esercizio I, fino a 415 V/AC3
(a 35°C)
© Potenza nominale di motori trifasi a 50 Hz
(= potenza nominale max del motore AC2/AC3)
Per la tensione nominale di azionamento Us si veda la targhet-
ta sulla bobina dell’elettromagnete del contattore.
Campo di lavoro della bobina elettromagnetica del contat-
tore:
3TWI1. 75..1,1 x Us
3TW2./3TW4. 0 8 .1,1x U

Protezione del motore mediante relé di sovraccarico
Per la protezione contro corti circuiti si vedano le istruzioni per
il rele di sovraccarico impiegato.

Grado di protezione IP 42 o IP 65: v. targhetta dell’avviatore.

o
.. M

(1] e (3]

le 220V 380V 415V

A kW hp kW hp kW hp
3TW20 9 2.2 3 4 5 4 5
3TW22 9 2.2 3 4 5 4 5
3TW10 9 22 3 4 5 4 5
3TW12 14,5 4 5 7 9 7.5 10
3TW13 22 6,3 8,5 11 15 M 15
3TW15 30 8,6 11,5 15 20,5 15 20,5
3TW40 9 2,2 3 4 4 5
3TW41 12 3 4 55 75 55 75
3TW42 16 4 55 75 10 7,5 10
3TW43 22 55 7,5 1 15 1 15

GWA 4NEB 521 0230—10e



Montage

@ Uberlastrelais (aus separater Lieferung) mit dem Schiitz
verbinden. Rote Schiitzleitungen am Uberlastrelais anschlie-
Ben — siehe Schaltplan im Gehausedeckel der Kapselung

8 Einbaulage

tincauiage

‘3( hraubbefestigung auf planer, vertikaler Befestigungsebene

mit 2 Schrauben M4*.
sichern.
Befestigungsebene gegen StoBe und langandauernde Er-
schitterungen absichern

* 3TW15: 4 Schrauben M5

Stets mit Scheiben und Federringen

AnschluBquerschnitte

Hauptleiter

0O cindrahtig

@ feindrahtig mit Aderendhilse
@ feindrahtig mit Kabelschuh
© AnschluBschrauben

@® Anziehdrehmoment
Hilfsleiter

@ cindrahtig

@ feindrahtig mit Aderendhiilse
® AnschluBschrauben

@ Anziehdrehmoment

Zum AnschlieBen der Leiter sind Einfuhrungsoffnungen im
Gehéuse auszubrechen, siehe 4) in Bild @ und @. Entspre-
chend der Gehauseschutzart sind die Lenungsemfuhrungen
abzudichten

Crhalinlan i
SCnasip:an sic

Installation

@ Connect overload relay (supplied separately) to the con-
tactor. Connect red contactor leads to overload relay — see
circuit diagram inside the casing cover.

8 Mounting position

Screw -mounting on flat, vertical surface with 2 M4~ screws.
Always secure with plain washers and spring washers
Protect mounting plane against shocks and prolonged vibra-
tions

" 3TW15: 4 screws M5

Conductor sizes

Main leads

0 solid

@ finely stranded with end sleeve

© finely stranded with cable lug

© terminal screws

@ tightening torque

Control leads

@ solid

B finely stranded with end sleeve

® terminal screws

@ tightening torque

To connect the conductors, knock out the entry holes in the
casing, see 4) in figures @ and @. Seal the cable entries
according to the degree of protection of the casing.

Circuit diagram: inside the casing cover.

Montage

[4] Overlastrelaet (separat leverans) férbindes med kontak-
torn. De roda kontaktoriedningarna anslutes till Gverlastrelaet
- se kopplingsschema i kapslingens lock.

8 Inbyggnadslige

adslige
Fastsattnmg pa plan, vertikal yta med 2 skruvar M4*. Sakra
alltid med brickor och fjaderringar.

Montageytan sakras mot stotar och langvariga vibrationer.
* 3TW15: 4 skruvar M5

Anslutningsareor

Huvudledare

€0 entradig

@ fintradig med andhylsa

© fintradig med kabelsko

Q anslutningsskruvar

@ vridmoment

Hjalpledare

@ entradig

@ fintradig med andhylsa

® anslutningsskruvar

@ vridmoment

For anslutning av tedarna utbrytes inforningséppningar i kaps-
lingen, se 4) i fig. @, @. Inforningarna tétas enligt skydds-
formen

Kopplingsschema i kapslingens lock

’7 Franqars

[V P
Mointage

O Relier le relais de surcharge (livre séparément) au contac-
teur. Raccorder les conducteurs rouges du contacteur au
relais (voir schéma de branchement dans le couvercle du
coffret)

© Position de montage

Effectuer la fixation sur une surface verticale plane au moyen
de 2 vis M4 (4 vis M5 pour le type 3TW15), toujours avec
rondeiies piates et rondeiies Grower.

Protéger le plan de fixation contre les chocs et les vibrations
de longue durée

Sections des conducteurs

Conducteur principal

O ame massiv

ame souple avec embout
ame soupie avec cosse
vis de raccordement
couple de serrage

@9@»9

Conducteur auxifiaire

@ ame massive

@ 5me souple avec embout

@ vis de raccordement

@ couple de serrage

Pour le raccordement des conducteurs, il faut défoncer des
ouvertures d'entrée de cables pratiquées dans le coffret (4,
fig. é @, @). Etancher les entrées de cables conformément au
degré de protection du boitier.

Schéma de branchement: voir dans fe cauvercle du coffret.

[spanol

[V PSS
Maontaje

@ Unir el relé de sobrecarga (que se suministra por separa-
do) al contactor. Conectar las lineas de proteccion, de color
rojo, al relé de sobrecarga - véase esquema de conexiones
que hay en la tapa de la caja de la envolvente.

@ Posicion de montaje

Fijacion sobre una base plana y vertical mediante dos torni-
I|os M4+, Aplmar siempre arandelas plands y elasticas.
Asegurar el piano de fijacidn contra goipes y trepidaciones
de larga duracion.

* 3TW15: 4 tornillos M5

Secciones de conexion

Conductores principales

O De un solo hilo

@ De hilos finos con casquilio
@ Oe hilos Tinos con terminai
© Tornillos de uniéon

@ Par de apriete
Conductores auxiliares

@ De un solo hilo

® De hilos finos con casquillo
® Tornillos de unidn

@ Par de apiiete

Para conectar los conductores, hay que romper la envolvente
en las aberturas de introduccion, véase 4) en la figura @, @
Hay que tapar los agujeros de paso de los conductores en
concordancia con la clase de proteccion de la caja

Esquema de conexiones, véase la tapa de la caja de la
envolvente.

r~—— f 71
i ltaliano |

R~
wio nagg-u

@ Collegare il relé di sovraccarico (fornitura separata) con il
contattore. Collegare al rele di sovraccarico il conduttore
rosso del contattore. V. schema nel coperchio della custodia
@ Posizione d'installazione

Fissaggio per mezzo di 2 viti M4* su una superficie verticale
liscia. Assicurare sempre con rondelle semplici e rondelle
elastiche.

Proteggere ia superficie di fissaggio contro urti e vibrazioni
continuate.

" 3TW15: 4 viti M5

Sezioni dei conduttori di collegamento

Conduttori principali

O A filo unico

© A corda sottile con boccola terminale

© A corda sotiiie con capocorda

@ Viti di attacco

® Coppia di serraggio

Conduttori ausiliari

@ A filo unico

@ A corda sottile con boccola terminale

@ Viti di attacco

@ Coppia di serraggio

Per collegare i conduttori si ricavino i fori nella custodia
rompendo i tappi preincisi, v. 4) di fig. @, @. La tenuta sui
bocchettoni pressacavo dovra corrispondere al grado di pro-
tezione della custodia.

Lo schema si trova all'interno dell coperchio.

o

028 "’1"" 2259
-

7
—

//
~T—T

- o - [ mm? 7 mm? (5 ® Nem 707 mm’ @ mm? ® ® Nem
3TW20 o 7 2x(05..25 | 2 (05 %;A - M3 80...100 2% (05 ?5) 2 % (07,5” 15 | M3 80...100
swee o= 05..25 |2~ (o,é 1,5) |- M3 80...100 2 % (0, 5.25 | 2x 05 ...1,5) | M3 80...120
3ﬁ53m/72 W40, 3TWAT 2% ¢ 7'2,5) M35 80...120 -771711 2,5) 2 0,75 .15 | M35 80120 -
3TWi3, 3TW42, 3TW43 2% (25...6) T2r0s. 9 M4 100...150 Wﬁé; (15..25 |2 x_io,75. 15 | M35 80...120
5%% 2 x (2,5 10) 25 (15 477 s } M5 » o xge 25 |2« ©75..15 | M35 e 20
3581420~ 08 ) - o B 1 2.0 . “257 T :{d;é‘zwg)ﬁir\‘u,s 80...120

n
Z




[ ——
i Deutsch |

® 3TW1./3TWA4. Austausch der Schiitzspule

Das Uberlastrelais vom Schitz trennen und beide Gerate aus
dem Gehause ausbauen

Zylinderschrauben (1) I6sen und die Schaltkammer (2) abhe-
ben. Spule (3) austauschen. AnschiuBklemmen (4) in die Aus-
sparung (5) eindricken. Schaltkammer (2) wieder aufsetzen
und festschrauben. Richtige Lage von Schaltkammer (2) zu
Magnetkammer (7) wird durch die Zentrierungen (6) sicherge-
stellt

3TW20: Austausch der Schiitzspule nicht moglich
@ Schaltbilder

English

7l

—

® 3TW1./3TW4. Coil replacement

Disconnect the overload relay from the contactor and remove
both units from the casing

Undo fillister screws (1) and lift off contact chamber (2).
Replace coil (3) and press terminals (4) into recess (5). Refit
and tighten the contact chamber (2). The correct position of
the contact chamber (2) relative to the magnet chamber (7) is
ensured by the locating pins (6).

3TW20: The coil cannot be replaced

@ Circuit diagram
@ Additional auxiliary switch on separately supplied over-

| Svensia_|

® 3TW1./3TW4. Byte av kontaktorspolen

Overlastreldet skiljes fran kontaktorn och bada apparaterna
utbygges ur kapslingen.

Cylinderskruvarna (1) lossas och kopplingskammaren (2) lyf-
tes. Spolen (3) bytes. Anslutningsklammorna (4) intryckes i
ursparningarna (5). Kopplingskammaren (2) pasattes ater och
fastskruvas. Det riktiga laget hos kopplingskammaren (2) i
férhallande till magnetkammaren (7) sakerstaiies genom cen-
treringarna (6)

3TW20: Byte av kontaktorspole ef mgjligt

@ Kopplingsschemata

@ Zusatzlicher Hilfsschalter am separat gelieferten Uberlast- load relay 3UA5. @ Extra hjalpbrytare pa det separat levererade overlastrelaet
relais SUAS. N ® Additional auxiliary switch on separately supplied over 3UA5‘_

© Zusatzlicher Hilfsschaiter am separat geiieierten Uberlast- load relay 3UW1 $ Extra hjalpbrytare pa det separat levererade Gverlastrelaet
refais SUW1. ® Additional auxiliary switches on built-in  contactor 3Uwi.

@ Zusatzliche  Hilfsschalter am  eingebauten  Schutz 3TB4...7 @® Extra hjalpbrytare pa den inbyggda kontaktorn 37B4...7.
3TB4...7
,,,,,,, — P ——

E'anga\s ! Espafiol ] | Italiano

® 3TW1./3TW4. Remplacement de la bobine du con-
tacteur

Séparer le relais de surcharge et le contacteur et retirer les
deux appareils du coftret.

Démonter les vis a téte cylindrique (1) et enlever la chambre
de soufflage (2). Remplacer la bobine (3). Engager les bornes
de raccordement (4) dans |'évidement (5). Remettre la cham-
bre de soufflage (2) en place et fa visser. La position correcte
de la chambre de soufflage (2) par rapport au boitier de
I'électroaimant (7) est assurée par les pieds de centrage (6).

3TW20: La bobine ne peut étre remplacée

@ Schémas électriques

@ Bloc supplémentaire de contacts auxiliaires sur le relais de
surcharge 3UAS livré séparément.

@ Bloc supplémentaire de contacts auxiliaires sur le relais de
surcharge 3UW1 livré séparément

® Bloc supplémentaire de contacts auxiliaires sur le contac-
teur 3TB4. .7 incorporé

® 3TW1./3TW4. Cambio de la bobina del contactor

Desconectar el contactor del relé de sobrecarga y sacar
ambos aparatos de la caja

Soitar los tornilios de cabeza ciiindrica (1) y levantar la
camara de maniobra (2). Cambiar la bobina (3). introducir los
bornes (4) en el hueco (5). Volver a colocar la camara de
maniobra (2) y atomillarla. Los flancos de centrado (6) asegu-
ran la posicién correcta de la camara de maniobra (2) respec-
to a la camara del iman (7)

3TW20: La bobina del contactor no es recambiable.

® Esquemas de conexiones

@ Interruptor auxiliar adicional en el relé de sobrecarga
3UASB, que se suministra por separado

@ Interruptor auxiliar adicional en el relé de sobrecarga
3UW1, que se suministra por separado

® Interruptor auxiliar adicional en el contactor incorporado
3TB4...7.

@ 3TW1./3TW4. Sostituzione della bobina del contat-
tore

Separare il relé di sovraccarico dal contattore e smontare
entrambi gli apparecchi dalia custodia.

Svitare le viti a testa cilindrica (1) e sollevare la camera
spegniarco (2). Sostituire la bobina (3). Spingere | morsetti di
attacco (4) nell'incavo (5). Riapplicare la camera spegniarco
(2) e avvitarla. La posizione corretta della camera spegniarco
(2) rispetto alla camera del magnete (7) é garantita dagli
elementi di centraggio (6).

3TW20: La bobina del contattore non puo essere sostiuita.

® Schemi

@ Contatti ausiliari aggiuntivi sul relé sovraccarico 3UAS.
@ Contatti ausiliari aggiuntivi sul relé sovraccarico 3UW1.
@ Contatti ausiliari aggiuntivi sul contattore incorporato

3TB4...7

LyL2L3 N PE

©
If_.

=
t
.
e
|

A

NS2-001

N

ulv|w Pt

3TW11+3UA50/3UW10
3TW12+3UA50/3UW10

LLzfLs3

z
°
)

w
w
2

i -_______\ P v,
s s e

g pﬂ
TL P RRICOM 2 32|u.

|
1
1
|
| | S
216 |6 I | EIN | Inininbaating ahudy And
o U= luc- 3 137 |21[31]e3
(e al l-wn :H-LZ A
2|6 ! S
! | lQ
T Y S L &
’ w
N - . z
ulviw pe * 3TW2010-.
3TW4. +3UA5. /3UW1
3TW13+3UA52/3UW13
3TW15+ 3UA54/3UW15
3TW2. +3UA7.




| Deutscn |

MaBbilder (MaBe in mm)

@ 3TW10...3TW13, 3TW40.. 43

1) BefestigungsmaBe
2) fir Startertyp 3TW..0 und 3TW. .1
3) flr Startertyp 3TW..2 und 3TW..3

@ 3TW15
1) BefestigungsmaBe

@ 3TW2.
1) Befestigungsmafle

|_engten_|

Dimension drawings (dimensions in mm)

@ 3TW10...3TW13, 3TW40...43

1) Fixing dimensions
2) for starter types 3TW..0 and 3TW.. 1
3) for starter types 3TW..2 und 3TW..3

@ 3TWI15
1) Fixing dimensions

@ 3TW2
1) Fixing dimensions

E;énska j

Mattritningar (matt i mm)

@ 3TW10...3TW13, 3TW40...43
1) Fastsattningsmatt

2) foér typ 3TW..0 och 3TW .1
3) for typ 3TW..2 och 3TW..3
@ 3TWI15

1) Fastsattningsmatt

@ 3TW2.

1} Fastsattningsmatt

| Frangais |

Plans d’encombrement (cotes en mm)

@ 3TWI10...3TW13, 3TW40...43

1) Cotes de fixation
2) pour types de démarreur 3TW..0 et 3TW..1
3) pour types de démarreur 3TW..2 et 3TW..3

@ 3TWI15
1) Cotes de fixation

@ 3Tw2.
1) Cotes de fixation

[*és-paﬁo\ 1

Croquis acotado (dimensiones en mm)

@ 3TW10...3TW13, 3TW40.. .43

1) Dimensiones de la fijacién
2) para el tipo de arrancador 3TW..0 y 3TW..1
3) para el tipo de arrancador 3TW..2 y 3TW..3

@ 3TW15
1) Dimensiones de la fijacién

@ 3TW2.
1) Dimensiones de la fijacién

Disegni-d’'ingombro (dimensioni in mm)

@ 3TW10...3TW13, 3TW40...43

1) Quote per il fissaggio
2} per avviatore tipo 3TW..0 e 3TW..1
3) per avviatore tipo 3TW..2 e 3TW..3

@ 3TWI15

1) Quote per il fissaggio

@ 3TW2.

1) Quote per il tissaggio

120
™ 2xpyi6

=]
)

- 169
180 o
=192 —

. ; 'y .
e { T~
ot b5 ﬁ.L_g

_-——00 —

2205

NG/

[e—

720 AL E—

@
130"
=40 955 30;_/ 2xPg21

T e T—'/\
l B
|
j\‘l N

@Q|| | i

i
i

I__._l._-]

Technische Anderungen vorbehalten.
Subject to change without prior notice.

© Siemens AG 1993

Bestell-Nr.: 3ZX1012-0TW20-1AA1
Printed in the Federai Repubiic of Germany



